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Function02 for No.9790

.
1=(2 0) .3 ( Sx 3j 5 2y-8=0 Ctl
No]:"(x‘y—)-———3+ -—(X+y——)’ !
2=(r=xal) A=(r=2x-18) 6=(5x+3y-6=0)] |

D

R /S

- \ N
FARRRE R
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Function02 for No.9790 (continue)

1
I

M
[Eq=[y=-2x-18]] (Eq=[5x+3y-6=0]] ‘t’
A=(2,-22) A=(3,-3) A
No2 = B=(-5,-8) |, ,No3= B=(-9,20) - la
C=(-1,-14) C=(-12,22) by
D=(3,-22) i D=(0,5) J
U
L T
Nod4 : 4.1 > S = 190 , R=23
: 4.2 > 35 = 9100 , R =23
No5 : N = 14000 , R =5 , Y = 2570
No6 : P = 170 , F = 18000 , V. =40 , N = 151
~ D(p):—15p+6950}
N07_[ S(p)=16p + 5710
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Function02 for No.9888

A=(y=—4x-14)
Nol =

\

2=(y=3x-17) .4:()/:—

M
3=(x+y+7=0) S=(x+4y+12=0) Ct’
3x
——sj 6=0Bx+4y—-16=0) | h
4
)
_:D]
10

/

ANtan
AN o /
VTN
—_\ L/

N
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Function02 for No.9888 (continue)

1
I

] ] M
3x - _ a
Eq=|y=-""-5 Eq=[3x+4y-16=0] t
) A=(-8,12) ,
No2=| A=@-1D) s B=(0,2) o
B=(-20, 13) i @
e C=(-12, 13) by
=(4,-8) L D=(20,-11)
D=(12,-15) U
7
No4 : 4.1 > S = 140 , R =17
: 4.2 >SS = 10100 , R =4
No5 : N = 13000 , R =11 , Y = 2570
No6 : P = 170 , F = 21000 , V. = 50 , N = 161

D(p)=-19p+ 7202}

N07:[
S(p)=29p+4418
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Function02 for No.9926

o
d=(y=-3x-20) 3=(4x-y-2=0) S=(y=4x-4) ‘;
Nol=\ ,_ y:—§+7} 4=(5x+3y+21=0) 6=(x+y-3=0) | h
)
|:D ]

\\\
10

N
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Function02 for No0.9926 (continue)

1
|

M
[Eq=[y=-3x-20]] [Eq=[5x+3y+21=0]] Ct’
A=(1,-23) A=(-6,3) i
No2 = B=(2,-29) | ,No3= B=(-3,0) - la
C=(-4,-8) C=(-15,21) by
L D=(5,-35) L D=(-9,8) i
U
L T
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > 5 = 10500 , R =3
No5 : N = 22000 , R = 8 , Y = 2569
No6 : P = 150 , F = 17000 , V=70 , N = 222
~ D(p):—23p+7569}
N07_[ S(p)=24p + 5078
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Function02 for No.10106

F ]
2x a
Nol = A=(x-3y+21=0) I=|y= 3 +2 S=(=x+17) o ;l
2=(x-3y-21=0) 4=(M4x+y+17=0) 6=(y=4x+1) 9
LD ]
w |
e
8- 7

/

/
e
////

10
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Function02 for No.10106 (continue)

o
(Eq=[y=x+7]] (Eq=[4x+y+17=0]] j’
A=(-54) A=(2,-25) ,
No2=| B=(0,7) | ,No3= B=(4,-36) - la
C=(-4,3) C=(-1,-13) v
D=(1,6) | L D=(29) U
T
No4 : 4.1 > S = 160 , R =14
: 4.2 > S = 9000 , R =14
No5 : N = 20000 , R = 10 , Y = 2566
No6o : P = 180 , F = 23000 , V. =40 , N = 180
~ D(p):—l4p+6714}
N07_[ S(p)=17 p + 4358
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Function02 for No.10139

M
Noj — A=|y=- i +3 3=|y=- i -1 .5:(3x+y—15:0)’ ’ }tz
2=(x+4y-16=0) 4=(x—-y—-6=0) O6=(y=2x+6) 9
LD |
\ 10 \\
T/
™~
NN | \
. T2
\ \
\\\\\ \\\ —
2 \\\ T
™~ \\\
\ N
0 10

Continue Next Page >>>



Function02 for No.10139 (continue)

1
I

M
(Eq=[y=2x+6]] (Eq=[x-y-6=0]] Ct’
A=(-1,4) A=(3,-3) i
No2=| B=(-3,3) | ,Ne3=| B=(4-5) | .|_
C=(-2,2) C=(-4,-10) v
. D=(0,8) . D=(1,-5) | U
T
No4 : 4.1 > S = 190 , R=0
: 4.2 > S = 8000 , R =14
No5 : N = 23000 , R =5 , Y = 2567
No6 : P = 140 , F = 18000 , V. =40 , N = 193
B D(p):—l3p+64ll}
N07_[ S(p)=15p + 5095
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Nol{

Function02 for No.10356

A=2x+y-16=0) 3=(x+4y+12=0)

2=(y=-x) 4=(y=3x+6)

/\
o/ 0\
SR
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F ]
e |
> >l h
6=(3x+5y+15=0) )
LD ]

\

/ o
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Function02 for No.10356 (continue)

1
I

] ] M
3x - _ a
Eq=|y=-"—4 Eq=[3x+5y+15=0] t
(s A=(10,-9) ,
No2 = =(-5-D) 1 Ne3= B=(15,-15) |, ,
B=(20,-16) _ @
i1 C=(-20,9) v
=(-25,12) | D=(25,-13)
L D=(-15,5) U
| T
Nod4 : 4.1 > S = 180 , R=23
: 4.2 > S = 8700 , R=5
No5 : N = 17000 , R =5 , Y = 2568
No6 : P = 120 , F = 23000 , V. =40 , N = 300
~ D(p):—l9p+7705}
N07_[ S(p) =26 p + 5680
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Function02 for No.10366

A=3x+y-19=0)

1= X
No 2 (y:—_+7j

4

I=(y=3x-1)

4

R

10

M
I=(x+y+7=0) c;
6=Bx+4y-20=0)] | h
Y,
L:D ]
/
/
/
/
/
‘\\,
‘--..\\

N
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Function02 for No.10366 (continue)

1
|

M
[Eq=[y=3x-1]] (Eq=[3x+y-19=0]] |
A=(-4,-13) A=(-5,34) ,
No2=| B=(516) | ,No3=|  B=(327) | |2
C=(4,11) C=(3,10) Y
L D=(2,-7) . D=(2,15)
U
| 7]
Nod4 : 4.1 > S = 160 , R=17
: 4.2 > 5 = 9600 , R=3
No5 : N = 22000 , R =5 , Y = 2568
No6 : P = 180 , F = 21000 , V. =50 , N =169
~ D(p):—18p+7028}
N07_[S(p)=23p+4117
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Function02 for No.10706

U=(xiy+d=0)  3=(y=2x-4) S=(x+3y-18=0) Aj
Nol=) 5 (ax+y-20=0) .4=(y=—%—4 seeteen |
\ \ /
\\\ \\ . /
\\ N /
N\
\\\\ /
N\ N/
N L/ 5 |

-10+

Q\\\
\\\\
TN
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Function02 for No.10706 (continue)

— y— —M—
5x - _ a
Eq=|y=—"—-4 Eq=[x+3y—-18=0]
4 t
A=(16,-24 A=(-6,8) h
No2 = =(16,-24) ) 3o B=(9,3) o
B=(-12,11) 3 @
C=(-3,9)
C=(-16,13) B M
i D=(0,6) |
. D=(4,-8) | U
| 7]
Nod4 : 4.1 > S = 180 , R =25
: 4.2 > S = 9800 , R =17
No5 : N = 25000 , R =9 , Y = 2571
No6 : P = 130 , F = 21000 , V. = 30 , N = 203
~ D(p):—29p+7546}
N07_[ S(p)=17p +4142
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Function02 for No.10899

M

2l a

A=(y=3x+6) 3= y:;+1 S=(x+y-3=0) !

Nol = . SN
2=|y="# 1] 4=(4x4y+20=0) 6=(x-y-1=0) )

LD |

\\ // Y
\ / ~
N

] yd
\ (R A
\ / 2%4 //é —

(3,
—
o

\ 10
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Function02 for No.10899 (continue)

1
|

M
(Eq=[y=3x+6]] (Eq=[4x+y+20=0]] Ct’
A=(2,12) A=(-2,-12) ,
No2=| B=(1,9) | .No3= B=(-1-16) | |0
C=(-5,-9) C=(-4,-7) Y
D=(4,20) i D=(-3,-8) J
U
| 7]
No4 : 4.1 > S = 160 , R =25
: 4.2 > S = 6500 , R =17
No5 : N = 19000 , R = 10 , Y = 2569
No6 : P = 170 , F = 17000 , V. = 60 , N = 164
~ D(p):—28p+8502}
N07_[ S(p) =15 p + 4890
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Function02 for No.10907

I=Bx+y+15=0) 3=(x-2y—-14=0) .5=(x—y=0) jg
Nol=1" _(y=x+3) .4=(y=—23—x+5j .6(y2x+5)}’ ;z
/ /_:D_
o/ //
IRV AR
/ |
./ // //
/, / //
yard
/ / 5 10//
e _—
//%// ) ///
S
/ // ///
s
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Function02 for No.10907 (continue)

M
(Eq=[y=x+3]] (Eq=[3x+y+15=0]] j’
A=(-2,0) A=(-5,2) h
No2=| B=(58) | ,No3= B=(-3,-6) - la
C=(-1,2) C=(1,-18) v
D=(3,5) | L D=(4,-27)
U
T
Nod4 : 4.1 > S = 190 , R=23
: 4.2 > S = 9800 , R=206
No5 : N = 16000 , R =17 , Y = 2566
No6 : P = 140 , F = 20000 , V=70 , N = 289

D(p)=-2 2
N07:[ (p)=-25p+69 5}
S(p)=21p+4579
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Function02 for No.10951

M
1=(2 16=0) .3 ( o 1) 5 2 0;

Nol = . _( x+y— - ) D= = 6 - . —(y——x— ) , ’ ,
2=(y==x+7) 4=Bx-y+7=0) .6=(x-3y—18=0) )

D

AN \
10- \

— 10+ AN
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Function02 for No.10951 (continue)

— y— _M—
5x - _ a
Eq=|y=-—-1 Eq=[2x+y-16=0] t
A=(18,-16 A=(-1,18) h
No2 = =(18,-16) )y B=(0,16) o
B=(30,-29) C= (-2, 19) @
C=(-30,24) (L 14) M
| D=(24,18) | - : - U
| 7]
No4 : 4.1 > S = 150 , R =17
: 4.2 > S = 9200 , R=206
No5 : N = 27000 , R =5 , Y = 2570
No6 : P = 160 , F = 19000 , V. =40 , N = 169
~ D(p):—16p+8026}
N07_[ S(p) =23 p + 4672
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Function02 for No.11058

M
Nor=[3Z0 I TIOINLN ISR
.
\ \ /
\‘ 104 ///
\ |
\ \ /
\ \
~3
\ i
\ \\i /
\ N \ |
0 \\ *\\\QER\ 10
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Function02 for No.11058 (continue)

1
I

M
(Eq=[y=x-17]] [Eq=[x+3y-3=0]] Ct’
A=(4,-3) A=(-12,6) ,
No2 = B:(-l’-ll) ) 5NO3: B:(_974) > ° @
C=(0,-10) C=(-6,3) bV
. D=(1,-6) | . D=(9,-2) | U
LT
Nod4 : 4.1 > S = 150 , R=0
: 4.2 > S = 8700 , R=206
No5 : N = 27000 , R=290 , Y = 2569
No6 : P = 130 , F = 22000 , V. = 30 , N = 231
~ D(p):—14p+7232}
N07_[ S(p)=25p +4775
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Function02 for No.11139

d=(y==x+2) .3=3x+y+3=0) '5:@:_53_)6_6} ]L;
NOIL(y+x+20) 4=(3x-y+20=0) .6=(y:§+2} };
N \/ I
Vo
o
\/\
/7\\ 6 1T
/ \ 47 _////
// BB
ol /7//// \\" 5 %

/ ;
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Function02 for No.11139 (continue)

e
[Eq=[y=-x+2]] (Eq=[y+x+2=0]] Ct’
A:(-S,S) A:(za'l) ]’l
No2=| B=(-1,3) | ,No3= B=(0,-2) |, la
C=(-2,2) C=(4,-8) v
L D=(3,5) | - D=6 by
LT
Nod4 : 4.1 > S = 140 , R =17
: 4.2 > S = 6100 , R =14
No5 : N = 25000 , R =10 , Y = 2569
No6 : P = 160 , F = 18000 , V. =40 , N = 154
~ D(p):—l3p+7302}
N07_[ S(p)=15p + 5790
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Function02 for No.11142

X
Nol{ .Iz(y:—z—lJ 3=2x+y+3=0)
2=(x+2y+10=0) 4=(y=4x+15)

F ]
a
S=(y=—=x+2) ] t
’ h
O6=(4x-5y+15=0) )
‘D

5 10
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Function02 for No.11142 (continue)

1
I

M
(Eq=[y=4x+15]] [Eq=[x+2y+10=0]] ‘t’
A=(-2,9) A=(4,-8) h
No2=| B=(-5,-3) | ,No3= B=(2,-5) e
C=(-4,-1) C=(-6,-2) by
D=(4,31) | . D=(10,-10) U
LT ]
Nod4 : 4.1 > S = 130 , R =25
: 4.2 > S = 8400 , R =17
No5 : N = 17000 , R =10 , Y = 2565
No6o : P = 160 , F = 21000 , V=70 , N = 238
~ D(p):—16p+7698}
N07_[ S(p)=27p + 5419
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Function02 for No.11193

M
I=(y=—x-4) 3=(y=4x+2) S=(x-4y+24=0) “
Not = .2=( =§—1] A=(4x+y-17=0) 6=3x+2y+2=0)[ | &
)
L:D ]
\ \
\ 10- \
\ \
\ o/
N\ \ \
\\ \ N \
\\ \ N \
AN N\, |
\ \ ’ //
: 5 10
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NN
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Function02 for No.11193 (continue)

o
(Eqg=[y=-x—4]] (Eq=[3x+2y+2=0] j’
A=(-5,3) A=(6,-10) ,
No2=| B=(2,-2) |, ,No3= B=(2,1) - la
C=(-4,0) C=(-6,8) Y
D=(5,-6) L D=(8,-11)
U
| T
No4 : 4.1 > S = 130 , R =25
: 4.2 > S = 8400 , R =14
No5 : N = 26000 , R =17 , Y = 2569
No6 : P = 170 , F = 23000 , V. = 50 , N = 204
~ D(p):—26p+7658}
N07_[S(p)=23p+4816
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Function02 for No.12037

M
I=B3x+5y-10=0) 3=(y=4x-2) S5=(4x+y+17=0) ‘t’
Nol = 2=(y+x=0) A4=(y=—x-4) 6= y=—£+3 B
2 :)
L:D ]
\ //
10
O\ /
L\ N
N\ /
N N
~
X .
\ %\ //
\ A
\ [ N
\ 0 5 10
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Function02 for No.12037 (continue)

1
I

M
[Eq=[y=4x-2]] (Eq=[3x+5y-10=0]] Ct’
A=(1,1) A=(-15,11) i
No2 = B=(2,6) |, ,No3= B=(0,5) - la
C=(-4,-16) C=(15,-7) by
| D=(-2,-10) i D =(-25,17) U
LT ]
Nod4 : 4.1 > S = 140 , R =14
: 4.2 > S = 8400 , R =17
No5 : N = 24000 , R =10 , Y = 2567
No6e : P = 170 , F = 18000 , V=70 , N = 169
~ D(p):—13p+6672}
N07_[ S(p)=17p + 5352
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Function02 for No.12111

A=3x+y—-4=0)
Nol =

J=(x

X Sx ,
2= :—2—3 A4=(5x-3y-3=0) b6=|\y="7"+7
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—y+5=0) 5=(y=3x+19) ‘lf
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LD

/
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S
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Function02 for No.12111 (continue)

] ] M
5x - _ a
Eq = y:7+7 Eg=[3x+y-4=0] ;
A=(12,26 4=(3,-5) h
No2=| A=012,26) | N3 B=(2-2) | .
B:('65'3) C:(l 1) @
C=(-15,-18) DN M
L D=(0,6) i
D =(-12, -14) U
wa
Nod4 : 4.1 > S = 140 , R =14
: 4.2 > S = 9000 , R=5
No5 : N = 18000 , R =9 , Y = 2571
No6 : P = 140 , F = 18000 , V=70 , N = 267
B D(p):—29p+7011}
N07_[ S(p)=125p + 3825
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Function02 for No.12116

A=(4x-3y=0)

]:
No 2=(x-y=0)

3=(y=x-3)

A4=(r=-2x-19)

10

F ]
I=B8x-y+5=0) 4
6 - )
b=|y=""
3
2)
‘D

-10+

5 10
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Function02 for No.12116 (continue)

— y— _M—
X - - a
Eq= y=3 Eg=[x-y=0] ;
A=(9,6 A=(-3,-4) h
No2=| A=(0)| npso| Bo(2,4) |,
B=(3,1) _ @
C=(0,0)
C=(-3,0) B M
| D=(4,4) |
L D=(15,5) _ U
| T
No4 : 4.1 > S = 160 , R=0
: 4.2 > S = 7400 , R=5
No5 : N = 13000 , R =9 , Y = 2571
No6 : P = 170 , F = 20000 , V. = 30 , N = 139
~ D(p):—23p+6704}
N07_[ S(p)=17 p + 4784
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Function02 for No.12179

.
d=(y=—4x-4) 3=(4x+y+17=0) S=(y=4x+5) 4
Nol=| . B B B o L
2=MAx+5y+5=0) 4=(+x+2=0) 6= y—3—6 h
)
LD
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AN \\
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Function02 for No.12179 (continue)

— — _M_
X r . a
qu{yz——6} Eq=[y+x+2=0]
3 !
A=(12,-2 4=(1,-3) h
N02: _( & ) 5 ,N03= B=(3"3) 5 s
B:(69'4) _ @
C=(-1,-1)
C=(0,-9) _ M
. D=(-4,2)
. D=(-6,-8) U
L T
Nod4 : 4.1 > S = 140 , R =17
: 4.2 > 35 = 7500 , R=0
No5 : N = 23000 , R =5 , Y = 2570
No6 : P = 170 , F = 20000 , V.= 50 , N = 154
~ D(p):—29p+6613}
N07_[ S(p)=14p + 4592
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Function02 for No.12324

I=(y=-3x-19) 3=(y=3x-5) S=(x-3y-12=0) %4
N01='2:(x_3y+6=0) .4:(y:52_x—5) 6=(x+y+3=0) [ l;
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/
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C /
]
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. ° y// 5 -
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Function02 for No.12324 (continue)

1
|

M
(Eq=[y=3x-5]] (Eq=[x-3y—12=0]] Ct’
A=(-4,-14) A=(15,4) ,
No2=| B=(2,-11) | ,No3= B=(9,-1) ol
C=(4,8) C=(0,-5) Y
| D=(-5,-20) | | D=(3,-5) |
U
L 7]
Nod4 : 4.1 > S = 170 , R =17
: 4.2 > S = 9300 , R =14
No5 : N = 21000 , R =11 , Y = 2565
No6 : P = 160 , F = 23000 , V. = 50 , N = 197
~ D(p):—28p+6560}
N07_[ S(p) =23 p + 4265
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Function02 for No.13087

.1:( =
Nol =

2

4

\
\

10

i_6j 3=(x-y-5=0)  S=(y=-4x-2)

6 x
(yz?—zj _4=(x—4y+24:0) .6:(2X_y+17=0)

M

2 2

t
h
)
LD
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Function02 for No.13087 (continue)

1
I

] ] M
X r n a
qu{yzz—6} Eq=[2x-y+17=0] t
s A=(4,24) ,
No2=| A=) N3 B=(-4,9) |
B=(12,-3) _ @
Ce (8 -6 C=(-3,8) v
=(-8,-6) . D=(527) |
D=(4,-5) | U
a
Nod4 : 4.1 > S = 150 , R=23
: 4.2 > 5 = 9800 , R =17
No5 : N = 14000 , R = 11 , Y = 2570
No6 : P = 120 , F = 19000 , V=70 , N = 375
~ D(p):—21p+6731}
N07_[S(p)=29p+3681
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Function02 for No.13339
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AN
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Function02 for No.13339 (continue)

1
I

M
(Eq=[y=4x+20]] [Eq=[x-3y-12=0]] ‘t’
A=(1,24) A=(12,0) A
No2 = B=(-3,8) |, ,No3= B=(-6,-5) - la
C=(-1,13) C=(0,-4) by
D=(-50) | L D=(15,3) J
U
L T
Nod4 : 4.1 > S = 130 , R =14
: 4.2 > 35 = 9100 , R =14
No5 : N = 20000 , R =5 , Y = 2567
No6 : P = 180 , F = 22000 , V. =40 , N = 169
~ D(p):—14p+6278}
N07_[ S(p) =129 p + 4042
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Function02 for No.13340

M
I 3y-9=0 3( ﬂ4j 5 3p-6=0 )
Nol=| 1=(x=3y=9=0) 3={y=-""-4] S=(x-3y-6=0)) |
2=(y=3x-1) A4=(x-y-2=0) .6=(y=—4x+15) )

LD ]

\ R
N IR /
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Function02 for No.13340 (continue)

e
(Eq=[y=3x-1] (Eg=[x-y-2=01] |
4=(2,5) A=(41) ,
No2 = B:(-4’_13) > aN03: B=(-2,-4) 5 , @
C=(3,5) C=(-3,-7) bV
D=(-1,-6) | - D=4y
LT
Nod4 : 4.1 > S = 150 , R =17
: 4.2 >35S = 10200 , R =4
No5 : N = 28000 , R =5 , Y = 2569
No6 : P = 180 , F = 19000 , V. = 60 , N = 154
~ D(p):—27p+6738}
N07_[ S(p) =23 p + 4538
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Function02 for No.13350

6 x
A= y=7;+4

NOI{
2=(x+2y-6=0)

3=(=2x+7)
4=(6x-5y-20=0)

//

M
a
.5:(2x+y2020)] t
’ h
b6=(=x-T) 2
LD
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Bt 1/ //

\\ /! //
~./ ., // //
N

/ \/7’\ A

/ ? \ bn
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Function02 for No.13350 (continue)

.
(Eq=[y=x-7]] (Eq=[2x+y—-20=0]] j’
A=(1,-6) A =(0,20) ,
No2=| B=(5,-1) | ,No3= B=(4,12) ol
C=(2,-5) C=(3,16) v
D=(-3,-7) | D=(-1,21)
U
T
Nod4 : 4.1 > S = 140 , R=0
: 4.2 > S = 6700 , R =17
No5 : N = 20000 , R =10 , Y = 2569
No6 : P = 180 , F = 23000 , V. = 50 , N = 164
~ D(p):—16p+6994}
N07_[ S(p)=15p + 4390
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Function02 for No.13361

No]:[

A=(y=-3x-06)
2=(x+3y-21=0)

\\\\
\\‘\\\ \\\\
T ~
'\‘\
T

I=(y=—=x-T7)
4=(y=-3x+19)

/

S

M
a

.5:(3x+5y—35:0)} t
6=2x-y+2=0) ' | &
)

LD
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Function02 for No.13361 (continue)

1
|

M
[Eq=[y=-3x+19]] [Eq=[3x+5y-35=0]] Ct’
A=(4,7) A=(-15,16) i
No2 = B=(1,16) , ,No3= B=(15,-1) e
C=(2,10) C=(-20,19) by
| D=(-1,22) | i D=(0,7) ]
U
L 7]
Nod4 : 4.1 > S = 190 , R =17
: 4.2 > 5 = 10300 , R=5
No5 : N = 19000 , R =7 , Y = 2570
No6 : P = 160 , F = 21000 , V. = 60 , N = 211
~ D(p):—16p+7694}
N07_[ S(p)=17p + 5747
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Function02 for No.13396

x 3x
Noi=| 1=\¥="5%2)  3=(=3x-6)  s=|y="1-5]]

2=+x+2=0) 4=CBx+y+17=0) .6=(x+y—-7=0)
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Function02 for No.13396 (continue)

1
I

) ] M
3x - _ a
Eq = y:T—S Eq=[3x+y+17=0] ;
A=(-10,-20 4=(0,-19) h
Noz=| A=CI0200 1 s | p=(2.-11) |,
B=(-2,-8) _ @
C=(3,-26)
C=(10,8) _ M
| D=(4,-5) |
D=(4,-2) U
LT
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > S = 6800 , R=206
No5 : N = 18000 , R = 6 , Y = 2568
No6 : P = 150 , F = 21000 , V. =40 , N =176
~ D(p):—22p+6876}
N07_[ S(p)=21p+3307
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Function02 for No.13406

M

a

No]:[.1:(5x+3y+18:0) 3=(x-3y+15=0) .5:(x—3y—12:0)} t
2=(=3x+7) A=(y=—x-2) b6=(=-3x+19) I | h
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L:D ]

\ /

\ o/ \\
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Function02 for No.13406 (continue)

1
|

M
(Eq=[y=3x+7]] (Eq=[x-3y—12=0]] Ct’
A=(-4,-5) A4=(3,-3) i
No2=| B=(0,7) | ,No3= B=(158) | o
C=(-3,-4) C=(9,0) Y
D=(2,13) | L D=(151)
U
| T
No4 : 4.1 > S = 150 , R =14
: 4.2 > S = 9500 , R =17
No5 : N = 19000 , R = 11 , Y = 2568
No6 : P = 180 , F = 18000 , V. = 50 , N = 134
~ D(p):—29p+8796}
N07_[ S(p)=24p + 4874
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Function02 for No.13433

Nol{

X
d=(y=—x-2) 3=(4x+y—-4=0) ,5:(y:_—_1

2x
2=Bx-y+14=0) 4=(x+2y-10=0) .6:(y=_T+6J

F ]

)

2

|

I
6&;3‘*\&
L

-10+
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Function02 for No.13433 (continue)

1
I

] ] M
X r n a
Eq:{y:—g—l} Eq=[x+2y-10=0] t
A=(-10,4 A=(2.4) h
No2=| A=CI10.4) 1 s B=(-6,8) |, ,
B=(6,-3) _ @
C=(10,2)
C=(-8,3) ~ M
. D=(2,6) |
. D=(0,-1) U
| T
No4 : 4.1 > S = 130 , R=23
: 4.2 > S = 7200 , R=206
No5 : N = 25000 , R = 6 , Y = 2567
No6 : P = 150 , F = 21000 , V. = 30 , N = 167
~ D(p):—14p+6756}
N07_[ S(p) =23 p +4758
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Function02 for No.13473

2x
Nol = .]:(y:—x+6) .3=(y=— 5 —7j .5:(x+4y—4=0)’
A4=2x-y+17=0)

2=(y=-3x-6)

M

2

b6=3x+y+1=0)

e =~ 8

/ TN
// 0 \S\K\i'o
~_ 2] S
Ay

-10+
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Function02 for No.13473 (continue)

o
(Eq=[y=-3x-6]] (Eq=[x+4y—4=0]] j’
A=(5,-21) A=(0,1) ,
No2=| B=(-1,-3) | ,No3= B=(-8,0) - la
C=(-3,2) C=(16,-4) by
| D=(-5,9) | D=(12,-2)
U
| T ]
No4 : 4.1 > S =170 , R =14
: 4.2 >SS = 10600 , R =4
No5 : N = 13000 , R = 10 , Y = 2569
No6 : P = 180 , F = 20000 , V. = 30 , N = 125
~ D(p):—29p+7790}
N07_[ S(p) =18 p + 4970
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Function02 for No.13485

J=(y=4x+20)

Ab]z[2=(3x—5y+20=0)

~

3=(x-y+6=0)

A4=(x+2y-12=0)

| \

M
a
.5:(y:—4x+7q t
b6=(y=x-3) | h
2)
D]

\

\
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Function02 for No.13485 (continue)

e
(Eq=[y=—-4x+7]] (Eq=[x+2y-12=0]] Ct’
A=(2,-1) A=(-8,10) ,
No2 = B=(0,7) | ,No3= B=(-4,11) - la
C=(1,1) = (6,3) v
L D=(4,-9) . D=(10,3) _
U
LT
Nod4 : 4.1 > S = 190 , R=23
: 4.2 > S = 7700 , R =17
No5 : N = 27000 , R =28 , Y = 2565
No6 : P = 160 , F = 21000 , V. = 50 , N = 177
~ D(p):—l4p+7576}
N07_[ S(p)=13 p + 5983
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Function02 for No.14126

Nol =
2=(y=-2x+4)

4
d=(x-y+5=0) 3=(4x—y+14=0) .5=( =——x—6]
A4=(x-4y+16=0)

\ /

F ]
a

t

> h
Ob=(y=-2x+3) 9
LD |
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Function02 for No.14126 (continue)

— — —M—
4 x - B a
Eq=|y=-—3"~6 Eq=[4x—y+14=0] t
A=(-10,2 A=(-5,-3) h
No2 = =(-10,2) ) N3 B=(3,26) o
B=(10,-17) 3 @
C=(-1,10)
C=(-20, 10) ~ M
L D=(-3,0) i
| D=(25,-24) | U
| T
Nod4 : 4.1 > S = 140 , R =14
: 4.2 >SS = 10500 , R =3
No5 : N = 16000 , R = 6 , Y = 2569
No6 : P = 120 , F = 23000 , V. = 50 , N = 341
~ D(p):—l9p+7250}
N07_[S(p)=24p+5100
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Function02 for No.14148

X
N0]|:]=(y=3+1j .3:(3x—y+14:()) ‘5=(3x+y+5=0) ’
6=(4x-5y+30=0)

2=(y=x-4)

4=(y=-3x+2)

\
\

M

e =~ 8

5 10
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Function02 for No.14148 (continue)

) ] M
X - - a
Eq- y=—;+l} Eq=[4x—-5y+30=0] t
A=(-15,3 4=(-15,-9) h
No2 = B‘_(‘3’2) ., No3= B=(-10,-2) e
=(3.2) C=(25,24)
C=(6,-1) _ M
L D=(-5,2) i
D=(0,1) | U
| 7]
No4 : 4.1 > S = 180 , R =25
: 4.2 > S = 9000 , R =17
No5 : N = 17000 , R =11 , Y = 2571
No6 : P = 140 , F = 19000 , V. =40 , N = 204
~ D(p):—25p+7750}
N07_[ S(p) =18 p + 5944
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Function02 for No.14313

M
A=0CBx-y-4=0) 3=0CBx+y+20=0)  S=(y=-x-3) ‘t’
ot = -2=(y=—§—2j -4=(y=—52—x+1} 6=(x+4y—-16=0) ;;
L:D ]
\ \
\\ 10-
\ g
HNA \
\._\ 6
LT
\\
\ \\\\
‘JY‘EEEM‘“HH,HH 0 \\ 5 10
\ \\\:\
T
\ \ —
A
\\ N
o \
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Function02 for No.14313 (continue)

1
|

M
(Eq=[y=-x—-3]] (Eq=[3x+y+20=0]] Ct’
A=(4,-7) A=(-1,-19) ,
No2=| B=(-5,-1) |, ,No3= B=(3,-32) e
C=(41) C=(2,-26) Y
. D=(1,4) | i D= (5, -35)
U
| 7]
No4 : 4.1 > S = 140 , R=23
: 4.2 > S = 7600 , R =23
No5 : N = 18000 , R =11 , Y = 2567
No6 : P = 150 , F = 20000 , V. = 50 , N = 188
~ D(p):—2lp+7059}
N07_[ S(p)=125p + 3425
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Function02 for No.14370

T
Z_X a
Noj=| 1= #3y=15=0) 3=(Q2x+y+20=0) S=|y="3"-4] 2
2=(y=-2x-7) 4=(x-y=0) 6=(y=2x) )
:D_
10 //// ///////////
\
\ -
\\ 8 /
T~
~—_ /

/

/

4_\L /

/A
\\\“‘ﬂs

T
\\\\\\
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Function02 for No.14370 (continue)

1
I

) ] M
2x - _ a
Eq=|y="3 -4 Eq=[2x+y+20=0] t
s A=(-1,-18) ,
No2 = =(6.-8) 1 Np3= B=(4,-28) | .
B=(6,0) _ @
C=(3,-26)
C=(-15,-14) ~ M
. D=(5-27)
D=(3,-4) U
L 7]
Nod4 : 4.1 > S = 160 , R=0
: 4.2 > S = 7600 , R =14
No5 : N = 13000 , R = 6 , Y = 2567
No6 : P = 160 , F = 20000 , V. =40 , N = 166
B D(p):—l9p+7464}
N07_[ S(p) =28 p +4832
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Function02 for No.14377

M
No]:'lz(y=%+lj 3=(x-3y+15=0) S=(+x=0) o Ctl
2=(y=2x-2) 4=(2x-y-6=0) .6=(y=-2x+20) };
L:D ]
\//
10- >//
\ / //
8 _
_—
/.
6-
7\
_—
//4- /
// 2- / \
\
/0
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Function02 for No.14377 (continue)

1
I

) _ M
3x _ _ a
Eq=|y=" +1 Eq=[x-3y+15=0] t
A=(6,8 A=(-6,2) h
No2 = =(6.8) | Np3= B=(6,7) o
B=(10,16) _ @
C=(-12,1)
C=(8,16) - M
| D=(-15,0)
D=(0,1) U
| 7]
Nod4 : 4.1 > S = 170 , R =25
: 4.2 > S = 9900 , R =14
No5 : N = 24000 , R = 8 , Y = 2571
No6 : P = 130 , F = 19000 , V. = 30 , N = 196
~ D(p):—16p+6556}
N07_[ S(p)=17p + 4378
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Function02 for No.14430

M
I=(4x+y+6=0) 3=(y=3x+16) S=(4x-5y-10=0) ‘;
Nol = X o
2= y:_2+4 A=(y=x-1) 6=(x+2y=0) h
Y,
L:D ]
\\ //
™~ \ 10-
~
~_ V0
\ \\‘ 6-
L\
[ T\ N
\° ~ 5 10
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Function02 for No.14430 (continue)

T
[Eq=[y=3x+16]] [Eq=[4x-5y-10=0]] j’
A=(-2,10) A4=(20, 14) h
No2=| B=(5,31) | ,No3= B=(-25,-19) - la
C=(1,19) C=(-15,-17) by
D=(3,26) | L D=(0,-2) 4 U
L T
Nod4 : 4.1 > S = 190 , R =14
: 4.2 > 35 = 8000 , R =14
No5 : N = 26000 , R =9 , Y = 2567
No6 : P = 160 , F = 20000 , V. =40 , N =171
~ D(p):—27p+7869}
N07_[ S(p) =20 p + 5660

X [Page = 0036] XXXXXXXXXXXXXXXXXXXXKXKKKKXXXKXKXKXKXKKXKXKXKXKXXXKXKXKXK XXX XXX XXKXKXKXKKXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXKXME/2-6700402-00037XX

Function02 for No.14432

F ]
5x a
NoJ = dA=ly=- 1 +6| 3=(y=-4x+19) 5:(x—4y+28:0) }tz
2=(x-y+5=0) A4=(y=3x) Ob=(x—y+2=0) 9
LD |
o \ // //
//
. )f///

A

/

AR
e
// // .
e o
/ //
/ N
/ o

10
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Function02 for No.14432 (continue)

1
I

) ] M
5x - _ a
Eq=|y==-",+6 Eq=[x—4y+28=0] t
o A=(16,11) ,
No2 = =D Ne3= B=(-16,5) | .
B=(-8,15) ~ @
C=(-12,21 C=(811) M
=(-12,21) . D=(20,12)
D =(-20,31) U
| 7]
No4 : 4.1 > S = 190 , R=0
: 4.2 > S = 9900 , R =17
No5 : N = 29000 , R = 8 , Y = 2567
No6 : P = 170 , F = 23000 , V. = 60 , N = 210
B D(p):—l9p+64ll}
N07_[ S(p) =13 p + 4203
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